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CBT Practice test model answers

Cash Management (CMGT)

Practice assessment 1
Section 1

Task 1.1
[image: image2.png](a) Complete the diagram below of the working capital cycle by dragging and dropping the options into
the correct box. Assume that cash flows in a clockwise manner.

Cash

Trade Trade
receivables payables
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Task 1.1, continued
[image: image3.png](b) Whatis the cash operating cycle, in days, for the business?

111days

39 days

77 days

227 days

(€) Selecting from the pickiists, complete the following sentences:

Overracingcan ocurwhen 2 usiness has Working capialand overcapaisation
can occurwhen he usiness has workingcaptal

Sins ofovervasing nciuse [rapaynerasmg ] saesvlumes. poftmargins,
trade recenabies collcton period and trade pajabes payment peros





Task 1.2

[image: image4.png](a) Complete the table by dragging and dropping the correct description to match the type of cash receipt

or cash payment.

[Capital payments

Payments that relate to the
acquisition of non-current
assets.

[Regular revenue
[receipts

Income received thatis
expected to occur frequenty.

Income received thatis not
expected to occur frequenty.

Payments thatare expectedto

[rawings Payments made to the owners
ofthe business.

[Exceptional Payments that are not expected

lpayments to ocour frequently.

‘occurfrequently.
Payments received from the
owners ofthe business.
Income received from Hil Payments that relate to the
Revenue and Customs. proceeds from the disposal of
non-current assets.





Task 1.2, continued

[image: image5.png](b) Calculate the actual business cash receipts and cash payments for the quarter to 31 December.

[Sales receipts 187620
[Purchases payments 26996
[Wages paid 72000
[Rentpaid 12900
[Office expenses 18518
[Van expenses 24202|
[Van depreciation charge 0





Task 1.3
[image: image6.png](a) Complete the table below to calculate the monthly sales volume trend and identify any monthly variations.

You must enter minus signs where appropriate and round to the nearest whole number.

jum

(units)
Jpugust 9360
[september 5940 6340 900
loctaber 5220 7020 1800
INovember 9900 7200 2700
IDecember 6480

‘The monthly sales volume trend is [180 units.





Task 1.3, continued
[image: image7.png](b) Using the trend and the monthly variations identified in (a), complete the table below to forecast the sales
volume, sales value and purchase value for January of the next financial year.

banuary 7560 -1800 5760 46080 18432





[image: image8.png](c) If the company uses the forecast wage rate index, what will the wage cost for March be, to the nearest £7

27,365

25253

26,454

25,994






Task 1.4

[image: image9.png](a) Complete the table below to show the split of total sales between cash sales and credit sales. Round to the

nearest whole .

[Total sales 37,500) 42,000 45,000) 51,000) 58,000 63.750)
(Cash sales 4500 5040 5400 6120 6960 7650
(Credt sales 33000 36960 39600 44880 51040 56100





Task 1.4, continued

[image: image10.png](b) Using the table below and your figures from part (a), calculate the timing of sales receipts from credit sales
that would be included in a cash budget for Sargent Enterprises for the period March to June. Round to the.
nearest whole £.

Cash Received

Credit sales. February  March April

banuary 13200

IFebruary 22176 14784

lwarch 23760 15840

lAprit 26928 17952
lway 30624
IMonthly credit sales receipts 35376 38544 42768 48576





Task 1.5

[image: image11.png]Prepare an extract of the payments section of the cash budget for Fortnum Ltd for the three months ended December.

lPurchases 48915 48950 49830
Wages 12300 12300 12750
lExpenses 7470 8836 7852
INew machine 15000 15000 15000
[Total payments 81685 85088 85232





Task 1.6

[image: image12.png][Receipts
[Cash sales 8100 9180 10,440)
[Creat sates 53064 53516 6415
[Bank loan 43200 o o
[Total receipts 104364 52695 74592
[Payments

[Purchases -34550) 37,129 42,075
[Wages -18,000) -18.450) -18.450)
[Expenses -10.313] -11.269) 13,254
[Capita expenture o ~49,500) o
[Bank loan -repayment of principle [} 900 900
[Bank oan interest 9 180 180
|overaratinterest o o 91
[Total payments 62068 17424 74950
INet cash flow 4139 54728 B
|opening bank baiance 4232 45628 9100
[ctosing bank batance 45628 9100 “9as8





Section 2
Task 2.1

[image: image13.png](a) Calculate the revised value of forecast sales for period 1.

(b) Complete the table below to show the revised timing of sales receipts for periods 4 and 5. Round to

‘whole £ throughout.

|original timing of receipts

29,160

29,830

30720

[Revised timing of receipts

24378

25002

25755|





[image: image14.png](c) Complete the table below to show the revised timing of purchase payments for periods 3 and 4. Round to whole £'s
throughout.

[original timing of payments 9,600 9820 10,940)

[Revised timing of payments 8816 9666 10,156






Task 2.1, continued
[image: image15.png](d) Using your calculations from parts (b) and (c), complete the table to show the effect of the changes to
sales receipts and purchase payments for periods 3, 4 and § and in total for the quarter. The bank
balance at the beginning of period 3 has been provided in the table.

Decreases in sales receipts, increases in purchase payments and bank overdraft figures must be
‘shown as negative figures (minus figures) to gain the marks.

|original net cash flow 1,624 2359 4239 8,221
|changes in sales receipts -4782| 4788 4965 14535
|changes in purchase payments 784 154 784 1722
|Revised net cash flow 4502
|opening bank balance 3790
|closing bank balance 802





Task 2.2

[image: image16.png][Budgetea closing bank balance 10905
[Shortailn receipts from trade recsivables 4756
[Shortallin cash sales 2570
[Increase in payments to trade payables. 2173
[Increase in cash purchases 340
[Increase in capital expenditure 28000
[Decrease in wages and salaries 600
[Decrease in general expenses 2188
|Actual closing bank balance 23148

(b) Whataction could the organisation have taken to avoid an overdrawn bank balance? Select one option only.

Chased customers to pay sooner and delayed payments to trade payables.

Increased cash sales through better marketing

Delayed capital expenditure.

Negotiated lower wages payments to employees.





Task 2.2, continued
[image: image17.png]{c) Match each cause of a variance listed on the left with a possible course of action from the list on the right.

Link one box to another by clicking on one box from the fist on the left and then clicking on one box from the
st on the right. This will add a red fine between the linked boxes. The line can be removed by clicking on it

[Payments to suppliers are being

made earlier Improve the product
[Customers are taking more days
o settle their debts Negotiate early settlement
discount
Prices of raw materials have Reduce overtime working
increased
Labour costs have increased Improve credit control

Sales volumes have decreased Change suppliers





Task 2.3

[image: image18.png](a) Which of the following best describes the main features of an overdraft?

Interest rates are low; itis available for as long s required; itis useful for capital purchases.

Interest rates are low, itis repayable on demand; tis useful for capital purchases.

Interest rates are low; repayments can be negotiated; it s useful for capital purchases.

Interest rates are high; repayments can be negoiated; tis a shortterm form of finance.

Interest rates are high; itis repayable on demand; tis a shortterm form of finance.

Interest rates are high; itis available for as long as required; itis a long-term form of finance.





Task 2.3, continued
[image: image19.png](b) Which of the following best describes the main features of a bank loan?

Interest rates are low; itis available for as long s required; itis useful for capital purchases.

Interest rates are low, itis repayable on demand; tis useful for capital purchases.

Interest rates are low; repayments can be negotiated; it s useful for capital purchases.

Interest rates are high; repayments can be negoiated; tis a shortterm form of finance.

Interest rates are high; itis repayable on demand; tis a shortterm form of finance.

Interest rates are high; itis available for as long as required; itis a long-term form of finance.

(c) Complete the sentences below using the picklists.

Abankaciy e sets cute iega [ o andcutes of [ sankand e cstomer g
whenthe bk grats [rerarats anatoans
The purpose of a facility letter is to protect the rights of |the bank and the customer. v





Task 2.4

[image: image20.png](a) Complete the table below to calculate the cost to the partnership for the first year of financing under
‘each of the three options. You must enter zero where appropriate to gain all the marks.

|option 1 4880 780 1280 6740
|option 2 6240 720 0 6960
|option 3 3840 0 0 3840

{b) Which financing option should the partnership select, taking account of the provisions of the partnership policy?

Option 1

Option 2

Option 3

None ofthe options.





Task 2.5

[image: image21.png]Use the picklists to complete the following sentences:

Confats of depostar coicats ssuasby inatcaty atanamountof
e h beendepost anc il e epaiat speotc dte it re. They [cr Rl
e radedon a marcet Ty ar consicereato e a imastment

Local authority shortterm loans are certficates issued by [local authorities Bl =ndbacked

oythe government They [can ] beraded on a market. They are considered o be

Govemmentsecures are iso known 25 [gicaagea ] secutes ana [can ] be rade.
teresttes are andhese tpes ofsecuies areconsidered o be secause

ey sackeco e sovemment




Task 2.6

[image: image22.png]Investment

Convertible Investment  Interest Lowor
within  £50,000 rate2% 90200l mogiym
60days orbelow abovebase ‘et risk

= shares

(option 1 no ves ves no ves

loption 2 no yes

loption 3 ves no no

loption 4 no

The company should select [none of the options
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